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ES T IRB 2B R \IBASEG4

PS5 AP
L= 1Uk Y1ewThlr [Ea3] L= rseudocode L. L= Iseunaacode™D 19%]] U=
26
27| else if ([ v4 <= 3 )
28
23 if ( wvd ==2)
39 {
31 V3 4= 3;
32
33 else if ( w4 )
34 {
35 if (( vd ==1)
36 v3 4= 4;
37 1
38 else
39 {
48 V3 += 4;
41 }
42

43| s = malloc(v3);
44 if [ s )

45

46 memset(s, @, v3);

47 vie = 53

43 while { vS < a2 - v4 )
49 1

5@ vE = B;

51 w7 = 8;

52 while ( ve <= v5s < a2 w4 )
53

54 v7 = (w7

55 +HvB;

56 +Hu5;

57

58 vB = w7 <<

59 for (i =86; 1<

68 *vieH =

61 1

62 *,10 = 85

63 result = 53

64| 1}

65| else

66

67 puts{“No enocugh memory.");

1] inte4 _ fastcall find_pos(char al)
2

00001321 ZE8RxEncodePHEci:26 (55BSEB104321)

3| return strrchr("ABCDEFGHIJKLMNOPQRSTUVHXYZabcdefghijklmnopgrstuvwxyz@1234{17894/=", al)
4 - "ABCDEFGHIJKLMNOPQRSTUVWXYZabcdefghijklmnopqrstuvwxyz@1234{ }789+/=";

5[

C [ pfi % **char strrchr(const char str, int ¢) £ 24 str Firfs 778 PR EE — IRIILTFF €
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Detect It Easy v3.01

HitE
C:/Uzers/Chilkat/Towrloadspuzzle. pye

T

Binary

A4 =1 =, | Euil]
Detect It Easy(DiE) LE Unknown HOEXECUTAELE Unknown

format Python Compiled Module(3.7b5)

O ==

5 E

f# Filuncompyle6 T. B it i # #epy:
root@ubuntu:~# uncompyle6 -o puzzle.py puzzle.pyc

ACKNEE

76, 50, 116, 90, 50, 116, 90, 115, 110, 48, 47, 87, 48, 103, 50, 106, 126, 90, 48, 103, 116, 126, 90, 85
115, 110, 105, 104, 35

end

out.append

out
print
exit
iin
if out[i

print




DB 3 fi

76, 50, 116, 90, 50, 116, 90, 115, 110, 48, 47, 87, 48, 103, 50, 106, 126, 90, 48, 103, 116, 126, 90, 85
115, 110, 105, 104, 35

i key

out.append key[i

join(out

Protection

o B
7% UPX3.96

E [P Detect It Easy v3.01 - O *

0000000000400000

Detect It E:as},rl::[liE::l

packer UPX(3.96)[MRV brute]

100%




o
N

. RExor, MRHIL R xry=flag

1lint _ cdecl main(int argc, const char **argv, const char **enwvp)
20

3| int w3; /S edx

4 int wva; //

5| int ws; //

6| int w3 //

7| int i; fS [ 1h]

8| char input[48]; [rsp+l@h] [rbp-3@h] BYREF
9| unsigned _ int64 v1@; // [rsp+38h] [rbp-8h]
.

11| vl = _ readfsqword(@x23u);

12| printf("please input your flag: ", argv, envp);
13| _isoc99 scanf("%28s", input, . . . )i
14 for (1 =8; 1 <= 27; ++1 )

1

16 if { (x[i] ~ input[i]} != ¥[i] )

17 {

18 puts(Mwrong!”};

19 return &;

28 }

21

22| puts("right!");

23| return 8;

24}

PO B E4H (convert)

Be4CB168 My Xrefs graph from... r_'_"_ nk_part_@+FF
Be4CBles
334L:EIEB Synchronize with *
BB4CB150 5| Convert to string
ae4CBla8 -
BBACB1E1 Lumina D fis] Convert to hex string
| Get xored data
000004CB1] = % Convert to C/C++ array (BYTE)
Fi—" Fill with NOPs %‘1 Convert to C/C++ array (WORD)
Convert * &3 Convert to C/C++ array (DWORD)
_D Scan format string vulnerabilities % Convert to C/C++ array (QWORD)
Keypatch Y @ Comvertto python list (BYTE)
i @ Convert to python list (WORD])
@ Convert to python list (DWORD)
@ Convert to python list (QWORD) H

223 ~moectf{upx_1S_simp1e-t0_u3e}

EXP

x=[0x61, OXx6F, Ox75, Ox76, Ox23, 0Ox40, Ox21, Ox56, Ox30, 0x38, Ox61, Ox73, Ox64, Ox6F, Ox7A, Ox70, OX6E, OX6D, ©
x61, Ox26, Ox2A, 0x23, Ox25, 0x21, Ox24, Ox5E, Ox26, Ox2A, 0x00]

y=[0x0C, 0x00, 0x10, 0x15, Ox57, 0x26, Ox5A, 0x23, 0x40, 0x40, Ox3E, Ox42, Ox37, Ox30, 0x09, 0x19, 0x03, 0x1D, ©
x50, 0x43, 0x07, 0x57, Ox15, Ox7E, 0x51, Ox6D, 0x43, Ox57, 0x00, 0x00, 0x00, 0x00]

(len(x)):
(x[1]*y[i])

SimpleRe
o B

MOE2020



B HIXOR,  7EZNZS i

IS A, xor— ik & I,
WEA

DAY
[}

Xor &5 3 At A

bss:paepaeeaeedasade W db 'rpz|kydkw qTl@Y/m2f/I-@o k., qkb’,@
. bss:eRedeRERBELE5840 3 DATA XREF
.bss:0000000000402040 aint+2Cto
.bss:0000000000408068 public out
.bss:0000000000402068 ; char out[31]

X .bss:0000000000403068 out db 'moectf{ThAnKs_Fér-yeu2 pAtl3nt}’,@
.bss:00000000004023060 ; DATA XREF
. bss:0000000000105060 enc(char

Thank you JavaScript
g

FAEL MR B IS ARG
http://edit.89tool.com/

require('console-read-write');

io.write('MoeCTF 2020 ThankYouJavaScript --written by Reverier');
io.write(await io.read());
io.write( Hello $ {
await io.ask('Who are you?')
P
let saidHi = false;
while (!saidHi) {

io.write('Please input the true flag:');

saidHi = await io.read() === 'moectf{Fx' +

nop
b3l }
64 if ( IsDebuggerPresent() )
gs| I
66 4 = sub_5D44B@{v35);
67 vS = sub SD4228(va);



KL M KB — AN B AR BB, SR AR

87| v28 = base6d(vl12, v32);
@ =3

a9
ag
a1
a2
a3
a4
@ o5
ag
a7
ag
a9

vid = 4;
v28 = *(sub C318A8)(4) - '@'; /3
v3g = -1;

std::string: :~string(v12);
sub_C32AD@(v32 + 48);
w39 = 5;

v8 = sub C3424@(encode_data_ );
v18 = base6d4 _encode(encode_data, v8, v18); // BASEcARTSEIR
sub_C342E@(v18);
std::string: :~string(encode_data);
v29 = encode data 3

1 = sub_C34248(encode_data_ );

vl7 = sub (34298(v23);
while ( v31 I= v17 ) /) ERTEREE W S
i

vid = v3l;

if ( islower(*w31) )

*y34 = (*y34 + v28 - 97) % 26 + 97; /i KEENE

else if ( isupper({*v34)} )
1

*y34 = (*v34 + v28 - 65) % 26 + 65;

w27 |= 1u;
v39 = -1;
std: :string: :~string(encode_data_ );

1. unknown lib name

2. XTI R A] LU PatchiZ g

EXP



import binascii

def encode(old):

ENS
for i in
i=old[i]
num (1)
if(i.islower()):
ans ((num+3-97)%26+97)
elif i.isupper():
ans ((num+3-65)%26+65)

else:ans (num)

def decode(old):

ans
for i in (old)):
i=old[i]
num (1)
if(i.islower()):
anx=(num-97)%26 +97-3
if(anx<97):
anx=97+26-(97-anx)

ES (anx)
print((num-97)%26 +97-3)

elif i.isupper():
anx=(num-65)%26 +65-3
if(anx<65):
anx=65+26- (65-anx)

ans (anx)
print((num-65)%26 +65-3)
else:ans (num)

return ans

print(decode(
print(chr((89+3-65)%26+65))

AlgorithmTask-HardTask
i

MOE2019

strncmp

Frstr1 5str2f gin AN FREAHE, IR E 05




= 325 T Sk Ve 335 Ml N s . M AT = A
FEFFWURE R, Mt T8 R4 o Hakede 7 — 8, BB RO R IR R 715 .
x IDA View—h a Pasudecodeh [ (D Hex View-1 B @A Structures B & Enuns B Inports B & Exports B
A @40z if (w187 < 12 )
493 vE2 = -2113869389;
494] v177 = v82;
495 break;
496 case 1720529274:
497 v177 = 1174496144;
498 puts("Good! You input the right flag!");// success 3T
499 break;
see| | case 1750495256 /) E—lEflagmREE
561 v1i2 = dword_83ABDC - 1) * (_BYTE)dword_83A8DC) & 1;
502 v1l3 = ned  intd)~(vil2 1=6) | 1) & 1) == 0;
@6z
se4] V115 signed _ int8)w~v114 | (unsigned _ intd)~(((v1l4 & 1) = @) * @xFE)) & 1) == @) & ~((((unsignsd _ inta)~vild | (unsigned _ intd)~(((vil4 & 1) == @) * @xFE)) & 1) == 8);
505 v11s = v112 != 8;
506 V117 = w116 & (V115 A ((((unsigned _ int8)~vll4 | (unsigned _ int8)~(((v1l4 & 1) == @) * @xFE)) & 1) I= @) | v115 & ((((unsigned _ int8)evlld | (unsigned _ intd)~(((v1l4 & 1) == 8) ~ @xFE)) & 1) != @))
587 V176 = ((((((unsigned _ int8)wu116 | (unsigned _ int8)w((((unsigned _ int8)m114 | (unsigned _ int8)m(((v114 & 1) == B) ~ @xFE)) & 1) != 8)) & 1) == @) | (unsigned _ int8)(mv116 » m(({(unsigned _ int&)~
508 v118 = ((((unsigned _ int8)~(v176 & (vi76 ~ @xFE)) | (unsigned _ intd)~v117) & 1) == @) | vi76 & (v176 ~ OxFE) & 1 ~ v117 & 1
569 v119 = ({((dword_83A8F8 < 18) & ((dword_83ABF@ < 18)  GxFE) | (unsigned __int8)~((dword_83ABF8 < 18) & ((dword_B83ABFB < 18) " OXFE) » BXFE)) & 1) == @) & ~((((dword_83A8F8 < 18) & ((dword_83ABF@ < 18)
510 w128 = ((((((unsigned _ int8)~((((unsigned _ int3)~(dword 83AGF@ < 1@) | OxFE) & 1) I= @) | (unsigned _ intd)~((((dword_83A0F@ < 10) & ((dword B3AGF® < 18) * BxFE) | (unsigned _ intd)~((dword_83A0F@ < 1
511 w121 = vi26 & (({(unsigned __ int8)~(dword_83ABF8 < 1@) | BxFE) & 1) != @) ~ (v119 ~ (((({dword_83A@F0 < 10) & ((dword 83ABF@ < 18) ~ BXFE) | (unsigned _ int8)~((dword_83A8F8 < 18) & ((dword 83ABF@ < 18)
512 LOBYTE(v112) = (((unsigned _ int8)~(vils == @) | 1) & 1 9;
513 V122 = (((unsigned _ intE)w((v121 & 1) == @) | 1) & 1) == 8;
514] w123 = ((((unsigned _ int8)~((((unsigned _ intB)~v121 | OxFE) & 1) == @) | (unsigned _ intd8)~v122) & 1) == @) | ((((unsigned _ int8)~v121 | @xFE) & 1) == 8) * v122 & 1;
515 v124 = (dword_83ABF@ < 18) & ((dword_83ABFB < 18) ~ @xFE) ~ ((v114 & 1) == 8);
516 V125 = ~(v1l4 & ((dword 83ABF@ < 10) & ((dword B3AGF® < 19) * @xFE) ~ v1ld));
517 v126 = ((((unsigned __int8)~v124 | v125) & 1) == @) | ~v124 » v125;
518 V127 = vi26 & ~v126 A w((v126 & 1) == @) * 1 | v126 & ~v126 & (~((v126 & 1) == @) ~ 1);
519 V128 = vI27 & (mv127 A vI27)3
520 w120 = (((unsigned _ int8)(~v123 & (((((unsigned _ intB)~((((unsigned _ int8)~11E | OxFE) & 1) == @) | (unsigned _ intB)~( BYTE)v112) & 1) == @) | ~((((unsigned _ int8)~v118 | BXFE) & 1) == @) * ~( BYT
521 v138 = (vi28 & 1) == 8;
522 V131 = ~(v123 & ~v123);
523 v132 129 & ((((v131 | (unsigned _int8)~130) & 1) == 8) | v131 ~ ~v130);
524] w133 = ~((((v131 | (unsigned _ int3)~v130) & 1) == @) | vI31 * ~vi3e) & v12;
525 v134 = ~((((unsigned __int8)~((((unsigned _ int8)(v136 ~ v129) | (unsigned _ int8)(v136 & v129)) & 1) == B) | BXFE) & 1) == @);
526 v135 = -515448841;
527 if ( (((((v134 | (unsigned _ int8)~(v133 | v132)) & 1) == 8) | (unsigned __int8)(vi134 ~ ~(vi33 | v132))) & 1) !=8 )
528 v135 = 233838068;
529 v177 = v135;
530
531
532 = word_83A8DC - 1) * (_BYTE)dword 83A8DC) & 1;
533 = gned __int8)~((v26 == 8) & ~(v26 == @)) | (unsigned __int8)~(v26 != 8)) & 1) @) | (v26 == B) & ~(v26 == @) ~ (v26 != @) | ~(((((unsigned _ int8)w~((v26 == @) & ~(v26 == B)) | (unsigned _
o| ® 532 w28 = (((unsigned _ intd)~((((unsigned _ inta)~(v27 & 1) | OxFE) & 1) == @) | @xFE) & 1) == 8;
| 00227528 main:500 (627528)
< >

case 1750495256: // 55— Btflag B &k

—35r2Bflag

1. dcba3261b6ef0d77(1611)
2. X110X0YxYWdWTB1XzRyZV9TdHIwbmd9

5 —Bbase64 ] LA k: _R4_F1lag_YOu 4re_StrOng}
HITWP, 515 &MD5% %, 7Eecmd5#if] & enjey

FERAESERE, wA LR SE, AR R 2~
flag:moectf{enj0y R4 _F1ag_YOu_4re_StrOng}
EasyShell

S

MOE2019 RE




DIE i /2UPX3.94

it

00400000

1

Detect It Easy(DiE)

packer
compiler MinGW(-)[-]

linker GMU linker |d (GNU Binutils)(2.24)[Conscole32,console]

100%

ffFHUPX Shellfiit. 7%

I rr B %
& UPX Shell (B5F41 UPX 5155125 — pd 5_
Win32 EXE, DLL [£4538 L i
= E20
UL oo e

l.l’x&l'-ﬁ: 3.42
Eif
AT ESE O RIE =T #E bste

TP [ESRHAE
0%
UPX 3.96 b | | [I
CRE SR A L g
| o Nk
asie
upx.exe IEHREFIEEES (FRT2.298 ¥

I 39 ks

[MRCTF2020]Xor
o b

call __loaddll
int 3 ; Trap to Debugger
_main endp



XAMUT- 22 BH 1 Dy AR 0

PU:’II o » ! Licivamc
call __loaddll
iht 3 ; Trap to Debugger
_main endp
R, fEShA IR AVELEX:

I

JTtext:eaCELeDe
.text:@8CE1808 loc_CEleDa:

.text:88CE1ED8 mov cl, byte ptr afaaaaaaaaaaaaa[eax] ; "sasasasasasasasaaaaaaaazaada’
text:P8CELBDE wor cl, al
.text:@8CE1BDE jnz short loc_CE1@FF
Y
[ = =] b [ =a =

FERNAS W, RIFEIE Rxor S % iy, JF HBEA
IR~ =(F e flag N FHFR51)

¥

o

it

1. REHMZRE NI, FRAERESR BP0

EXP

oldstr=[0x4D, Ox53, Ox41, Ox57, Ox42, Ox7E, Ox46, Ox58, OX5A, Ox3A, Ox4A, Ox3A, Ox60, Ox74, Ox51, Ox4A, Ox22, OX
AE, Ox40, Ox20, 0x62, Ox70, Ox64, Ox64, Ox7D, OX38,0X67]

( (oldstr)):
(oldstr[i]”i)

[GWCTF 2019]xxor
S HT
e R CEELTTEA)
Jeff iR, i Z3K A
Ubuntu_1604 - VMware Workstation
wEE) EENV) SV BT #EEIH)

Ubuntu_ 1604

MAF(F) fmiB(E) 1%HE EE((V) ®3(c) #EE(D) £m(T) FEA(H)

f e hit 01t [# ] 3 ) xNor.py

s=Solver I: )

x0=Int("x0")




FF)

FAGCB703)

2: Python

-/bin/python3 /

/root/exp/buuctf/RE/xxor.p

= 3774025685,
5501534660,
2230518816,
374609907

= 154

‘buuctt# |
Python 3.5.2 64-bit € 47 J§y 453 # Run Tests

FEI IS

1 I
mexplored Fxternal symbol B Lumina Function

j IDA View—hA Pzendocode—t
1| inted _ fastcall sub_486778( DWORD *al
2{

3| __intB4 result; // rax

5| if ( a1[2] - al[3] == @xB4A23IGFFLL

& &% 21[3] + al[4] == BxFAGCB7@3LL

7 &% a1[2] - al[4] == @x42D73143LL

8 &% *31 == BuDF43EF7E

] &% 21[5] == @xB4F30420

18 &% 21[1] == 550153460 )

1 {

L2 puts("good!™);

13 ~esult = 1LL;

4 3}

5| else

L7 puts("Wrong!"});

k:: ~esult = @LL;

=T

2| return resul t;

1)}




FEEEAD:  CRUUTEARINED

1| inte4 _ fastcall calc(unsigned int *input, _DWORD *a2)
2t
3| _ int&4 result; // rax
4| unsigned int w3; /S [r:
5| unsigned int wa; // [r:
6 int sum; // [rsp+24h]
7| unsigned int i; // [r:
8
9 3 = *input;
a 4 = input[1];
1| sum = @;
2 for (1 =8; 1 <= B63; ++1 )
El R
4 sum += @x458BCD42; /R
5 v3 4= (w4 + sum + 11) ~ ((v4 << B8) + *a2) & (w4 xx 9) + az[1]) ~ 32;
6 v o4= (W3 4+ sum + 28) & ((v3 << B) + a2[2]) ~ ((v3 »» 9) + a2[3]) ~ 16;
Y
8| *input = v3; ff 4b
al result = wd; /i 83
al input[l] = w4;
return result;
21}

fER AL, Ry

*input = input[0]

A TWPHR

bss:0000000000601877 unk_681677 db a8 o
.bss: 62000000068 dword_661678 dd 1234567891

. bss : BEBRAEE0B06E] 5

. bss : 606060600060 dd 2345672315

. bss : BEBRAEE0B06E]

. bz = : BRBBHEBEEEE] bss ends

spTy T owengy

ol = SRR W R 4
-

[

= Zbyte 601060;

FERNAS RS, W] DR BRI

v6[Jl;




1. unsigned #7528 AF AR B

2. =, i

EXP

void _ fastcall decalc()
{
__int64 xorm[6];
xorm[@] = 3746099070;
xorm[1] 550153460;
xorm[2] 3774025685
xorm[3] 1548802262
xorm[4] 2652626477 ;
xorm[5] 2230518816,
unsigned int i =0, j = 0, sum;
unsigned int temp[2] {0},
unsigned int data[4] = { 2,2,3,4 };//unkMi4%0s
for (i =0; i < 5; i += 2)
{
temp[0] xorm[i];
temp[1] xorm[i + 17;

sum = Ox458BCD42 * 64;//2fTtea i
for (j = ©; j < 64; j++)
{
temp[1] -= (temp[@] + sum + 20) ~ ((temp[@] << 6) + 3) ~ ((temp[@] >> 9) + 4) ~ 0x10;
temp[@] -= (temp[1] + sum + 11) ~ ((temp[1l] << 6) + 2) ~ ((temp[1] >> 9) + 2) ~ ©x20;
sum -= 0x458BCD42;
}
xorm[i] = temp[0O];
xorm[i + 1] = temp[1];
}
for (i = 90; i< 6; i++)
printf("%c%c%c", *((char*)&orm[i] + 2), *((char*)&orm[i] + 1), *(char*)&xorm[i]);

}

int main()

{
decalc();

[ACTF;#1 4 %% 2020]usual Crypt
kil




£ L1 BASEG4

04 ¥ [ Pseudoo= [] Pseudoos [1] Pseudoo [ Psendoos [ Prendoo [ [T Hex v [ Strue [0

[ Exuns [

& e [ @ B [

int

i

_ cdecl sub_481@88(int al, int a2, int a3)

int v3; // edi
int wv4; // esi
int w5; // edx
int v6; // eax
int v7; // ecx
int v8; // esi
int vo; // esi

18| int v1@; // esi
11| int wll; // esi
12 _BYTE *v12; // ecx
13| int w13; // esi
14| dint vi5; // [esp+18h] [ebp+8h]

= N N

16| v = @;
17| w4 =@

al;

21 =a? - a2 ¥ 3;

22 // ABCDEFQRSTUMWXYPGHIJKLMNOZabcdefghijklmnopgrstuvixyz@123456789+/
23

24

a5

26

27 LOBYTE(vS) = *(al + v3);

28 vi += 3;

29 V8 = vd + 13

30 *(vB + a3 - 1) = BASEG4_table_4@E@AB[(vS >> 2) & Bx3F];

31 *(44v8 + a3 - 1) = BASEG4 table 4@E@AB[16 * (*(al + v3 - 3) & 3) + ((*(al + v3 - 2) »> 4) & @xF)];
32 *(++VB + a3 - 1) = BASE64 table 4@E@AB[4 * (*(zl + v3 - 2) & @xF) + ((*(al + v3 - 1) >> 6) & 3)];
33 w5 1) & @x3F;

34 va = i

35 *(vd BASEG4_table_4BE@sB[v5];

36 }

00001111 sub 401080:35 (401111)

H
18| sub 481608();
I B

~

ARG R
ABCDEFQRSTUVWXYPGHIJKLMNOZabcdefghijkimnopqrstuvwxyz0123456789+/

ks M, KPlbase6d Ja AT — A K/ING HUEI ) 5% R AL

LLrnu _LUI:LJ. UPP"_"C‘“UJ.LH\"‘_" kLUflb'_ cnar C‘J.’]
2{

3| __inte4 vi; // rax

4| char v2; // al

5

5| vl = Bie4;

71 if ( strlen(al) )

8 {

9 do

1@

11 w2 = al[HIDWORD({v1}]; | i F-h

=
ra
.
—

13 if ( vz < 97 || v2 > 122 )
14

15 if (w2 < "AT || vz > 98 )
16 goto LABEL 9;

17 LOBYTE(v1) = v2 + 323

18 1

19 else

28

21 LOBYTE(v1) = v2 - 323

22 1

23 a1[HIDWORD(v1)] = vij
24|LABEL_9:

25 LODWORD(v1) = @;

26 ++HIDWORD(v1);

27

28 while ( HIDWORD(v1) < strlen(al) );
29l }

38| return vl;

31}

EXP




import string

from pwn import

( (oldtable)):
dictA[newtable[i]]=oldtable[i]

dictA[

convert_data

ans

for i in ( (convert_data)):

now (convert_data[i])
if(now<97 or now>122):
if((now<65 or now>90)==False):
NOW=nNow+32
else:

now=now-32

ans=ans+dictA[ (now) ]

print(b64d(ans))
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